No3 =FH - EfF GHEO) ( )HC )E 4

WD x DiEZRD X, (2L, x TEOKET S, )

1) x2=1%41%
=1+1
=2
koT, x=42

3) x’=1242?
=1+4

ko7, x=+5

5) x*+12°=13?
x*+144=169
x*=169 — 144

=25

£oT, x=4/25=5

(7) x*=2244%
=4+16
=20
koT, x=420

=+/2%.5

=2./5

9 #*=3+(7)
=9+7
=16

Lo T, x=416 =4

2) x*41%=2%
2P4+1=4
x?=4-1
=3
koT, x=43

(4) x*44%=5*
x%4+16=25
x?=25-16
=9
ko7, x=49=3

6) x2=32412

x2=9+1
=10
L-oT, x=+10

8) x%+6%=9*
x?+36=281
x?=81-36
=45
koT, x=./45
=4/3%.5
=35

(10) x%+(34/2)%=52
x2+18=25
x2=25-18

ko, x=47



No3 Z=T7 - #Efg GIEQ)

C )fC )FE AR

WD x DiEZRD X, (2L, x TEOKET S, )

1) x*=3%44*
=9+416
=25
koT, x=4/25=5

(3) x*+5°=6"

x%+25=236
x?=36—25

=11
koT, x=411

5) x*=4%467
=16+ 36
=52
roT, x=4/52
=22.13
=2./13

(7) x*+5*=13%
x%425=169
x%=169 — 25
koT, x=4/144 =12
=4/2%.5
=2./5

©9) x*=2+(J/5)"
=445

koT, x=49=3

(2) x*=2243%

x*=449
=13
£-oT, x=+/13

(4) x*+4*=67
x%4+16=236
x?=36—16

=20

koT, x=420
=+/22.5
=25

6) x*=5%4+10%
=25+100
=125

roT, x=4/125
=+/5%-5
=55

8) x*48%2=12°
x? 464 =144
x?=144—64
=80
ko7T, x=.80
=+/4%.5
=4./5

(10) x2+(2/6)2="72
x%+24 =49
x2=49—24
=25
ko7, x=+/25=5



